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Topics for Tuesday Wednesday Thursday @ Friday
this week
Maths - Multiply 2 Arrange Multiply: N/A (Ugadi) Estimate the | Divide:
digit numbers. | numbers in product:
- Arrange the ascending and Eg. 97 x 26 Eg: 63 divided
numbers in descending Eg: 69 x 26 by 3
ascending and | order:
descending
order. Eg:
- Estimate the | 97,81,123,201,
product. 137
- Divide 2 digit
number by
one digit
number
English - Write a poem | Write a poem of | Write 5 N/A (Ugadi) Write a story | Describe your
- Write 4 lines using sentences using using 5 village using 6
sentences rhyming words. adjectives. descriptive sentences.
using sentences.
adjectives
- Practice
writing
EVS Revise about Write the List and draw N/A (Ugadi) Describe Draw a village
Village meaning and the things that your village map and label
make you find in your in 10 it.
sentences: village. sentences.
1) Dispute
2) Impurity
3) Healthy
4) Cooperate
5) Inculcate
Homework #49 #50 N/A (Ugadi) #51 #52
assignment
Homework English English N/A (Ugadi) English English
answer keys 1. Avaquitais a | 1. Vaquitas eat 1. Check for 1. The name
kind of porpoise | fish. correct of the girl in
OR a small 2. Scientists spelling and the story is
whale. think there are grammar. Ragini.
2. Vaquitas live | 60 vaquitas still 2. Ragini’s
in the Gulf of alive today. Maths family has a
California. 3. It is important 1.11342 large garden
3. Vaquita to teach people 2. 14439 in front of their
means ‘little about vaquitas 3. 5924 house.
cow’ in so people will 4.5128 3. Ragini helps
Spanish. help save them. 5.2610 with the
4. Vaquitas are | 4. The vaquitas 6. 1292 garden by
very small OR are dying 7.16 trimming the
vaquitas are because they 8.1116 plants OR
smaller than an | are getting 9.1 picking the
adult man. caught in 10.6 fruits and
5. Itis hard to fishermen’s nets vegetables OR
study vaquitas OR because pulling the
because they they are weeds.
are scared of drowning. 4. Ragini
boats and 5. Accept wants to help
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humans OR
because there
are so few
vaquitas left.

Maths

. 12858
12457
7218
311
482
794
56
188
9.5

10. 24

ONOoOGOE LN =

reasonable
answers.

Maths

. 14227
14740
6713
2391
751
1882
28
3048
.8
0.23

SPINoOR~LON =

with the
garden so her
family will
have food to
eat and sell.
5. If there are
too many
weeds, the
plants will not
grow.

Maths

. 9937
. 10176
. 9204
. 354

. 229

. 3546
.42

0

6
0.3




